=)

[m]

82

RINE I

Xg€n#ES R1-081

WA

20

7oUR-L A B
168

AT VLARME e Dy e = TARY Y

2TV Iy e Fu b M6
EPDM/Sy 3 5%x30

89

fE#

2702 t=1.5 HUtE

BAOVEISR 1=6.8

258

127

Bt
A70L2Z t=1.5 HUtt

M47 22E2

AslVE)

28.5

Bk W=100 ———
27vb2 t=1.5 HUtt

15 23

15

25

105

65

ZRKYVaA VN

o=UV T (Blg)

32

Ny 2R
7 t=1 W=30

50

BERY

27UL2R t=15
T709-F+y T
7Uoh-28B 2FVLR t=2

FHENIIN(BIR)

e -2 (RBHHE)

ErEtt (B1E)

ftEROTE

FIRROE =941 +40

BiKE (51&) /

AP =5 -

N

709527 9¢
4UF=04%— 1.8¢
b4 (B8)

>=Uvg

ZBXY)
2572 t=1.5
HUtE

e S FP—5US- T = SRS ISTYIRRER
B WHRIK @R e :

al 1 u : Bt

w 1 |m : # A L . - g

R| 2 st A % / .




=)

O

XEERE= RT-081

62 RS
120 HRTE
20 35

FOoURK-L A B
168

AT VLRARIE e Dy b —o TANY TV
ATV Id0v e —Fuh MB

EPDMAYY 3 5%x30

BALVENSZ t=6.8

89

B
2702 t=1.5 HUtt

258

127

B
2702 t=1.5 HUtE

Ny 2 )R
® 7 t=1 W=30

15 23

M4F 2 2E2
=)y
0 ZEKY)
X 2702 t=15 HUtk
— EEZY
2702 t=15
————— 709 Fpy

15

7Uoh-%28E 27VUL2R t=2

25

105

65

ZBKEY3 AR

FHEIII (BIR)

%gig 25 (B) BAC-2 (RSB

o=U09 (Blg)

=y

20 7
—EkY
30 EmOE 272 t=15

HLtE
52 150 BIREOE =1$31E

/ \ ;
AR (B12) 709307 9¢
\ 4UF=04v= 1.8¢ 32

e (BI%)

>

[Sh

]
{7#&"&*9"\

EBRE 51 P RE-INYFISL FP—SUS— BAR - B ﬁﬁ% x ®F B 6 = AR cmrEnUTSTyOBRS
2 WHRIK @R A i

W 1 £l E4 1 R A - - - . ] :

N =t A s / "




=)

O

RS

XEERE= RT-081

WA

FoUR-h B B
18¢

AT VDRARIE « Dy e —o TANY FY
2FUV Iy e Fuh M6

EPDM/Sy £ 5x30

89

B
2702 t=1.5 HUtt

BALVENSZ t=6.8

258

127

e
2702 t=1.5 HUtt

M4F 2 2E2

sV

28.5

ZBke)

2702 t=1.5 HUtt

15 23

15

25

105

65

ZBKEY3 AR

Ny 2 )R

Q@ T t=1W=30

130

— EEIY
257vL2 t=1.5

— 709 Fvy 7

7Uoh-28B 27UV t=2

aftE-2 [-30x30x3 &¥65

o=U09 (Blg)

(LiSFE - BIFHE)
C-100x50x20x2.3

(512T%)

y-uyvg
—BKY)
f RO 272 t=15
HL E
100 FHRBOTE =05 £ + 40
A — : P99--397 96
D7 =D4 7 40F=74¥- 1.8¢
X =
ABEAVIR =25 N i
S=12
., - _ e 1*E _ e
EERAR 54 RE-INY FASLI FP_SUS— R i SWTENNAITS Ty IRRE R
2 WHak A - :
- At .
W 1 # A ]
Rl 72 A : [ w




=)

52

ML

WA

20 35

7oURK-h A B

X

D
o

-

yvJ

ERES RT-081

B —
- FUURAIE + Dy Ye— e Fhty . ZBAY
SO S CBAYY3 A N HABE S=12
BRUAY -1 (D14%E)
FI2AEZ 4x13
op) M8x25 Rk« Fy b oDy —x2
«© e J-F22U1-M8x75 38.5 2.5
27vb2 t=1.5 HUtE l
<
. [ — s -
n_— B
o 2702 t=1.5 HUtE Ny 7R / 010x20
iy ® TN t=1W=30 -
~ BE7 U0~ (M70)
- AmmF 7 2E 2 o 27V 1=25
N
Oy J /0 J
s :gmﬂwzq)15 HLt £ -
ATV A =1,
- RE2 30x52 w7 9 16.5 20 16.5
- L gasy Bl 2RRY > ¥R t=2.3 Bl 2R 0 SBR t=3.2 [ | ~—orox0
2 272 t=15 I 2—-64.5
79— S —2-064.
o TUI-Fry 52 T 732 g =1/%! X7 92E 2R
= W7 UN- (T720)5 | uin %%*
A7V t=2. «~
& =25 PERMIN: " ggi
M8x25 1
" RIVK e Fubh e DyIb—x2 611
= KRN RDEIT. dmmT 2 AE 2B
© ! BT 70
:r 7: Bl EARD o |/R t=3.2 7 N-BEEEH
AL — ‘/ A-F27Y1 - 8x/5
(J3 42N 8i) ; \
S-Uv7 (3R) T
A (38)
1 50 ft EEOWE M8x257 b b B FOAER 2—4x1 38
23 | 2 105 KB OS5 =08t & + 40
(—
/} \ AV TOETE TOAERATOBEE
KR - | 79307 96
7%;7»%)%74‘/7 ﬁH“: 1VF=04%- 186
T b (B
| KT VH-HE (M70)
o FP_SUS— CBIEL2T N1 (BEEE) |
{7 ¢ BR7 VI MERAEZ « MLk Y b
RUETEN 1-32201- (METHER)
I%eH gl EERR 51 PRE-INYFASLI FP_SUS— TiiEH - B e ¥ A 8 = =R cmrsnUTSTyOBRS
[ oo g |STE- 2 /\ o o o
el WHnkmAn A -
W 1 = | % e A ) o o o g
R 2 Hi K N T T T = / M




XEERE= RT-081

12 BN T
120 B2 ey
20 35
0B | 1B FIOUR-L B B
g1 7 168
B P E ISy S NERE Nt NPy o
2FUVT0y e - Fub M6 BAVENS2 t=6.8
EPDMSw > 5x30
D
© B
2702 t=1.5 HUtt
<
EE
© 2702 t=1.5 HUtt Ny IR
Q @ TN t=1W=30
~ M47 22K 2
N
y-yvg
) Bk
X 2702 t=1.5 HUtE
Q
— BEZY
0 0 272 t=15
795 %ru T
o . |
0 - ) TUN-£8 2F7VL2 t=2
ZRKE)Va AN \ \r'jjé\ \
2 |
*| g 7y |
— : -2 L-30x30x3 £&45
i (L5FE - BI5BHE)
XX L—-65x65x6 (Bli&)
=0T (Bli&) q
| Y
. ZBK)
30 HEROTE 272 t=15
HLUt £
32 ALC 100 FIRR O A =138
B (Bli&) / 7“)5/*7’)‘/7’w %¢
4UF=041- 180
\—ﬁﬂﬁ(ﬂwi@
oL S=1:2
{77&‘»'9'«
& TR - - _ . o — HIEFR - BB £ F A 2% —_ -
e EBAR 54 F 2E-9Ny FAS L FP—SUS— s A : E A8 cmrmoDSTyRReY
2 WHEK DA A A -
- ‘ kA z 1
W 1w i i# A 5
Rl 2 H A 1 H e "




=)

O

M T

O

WA

20 35

T7IUR-L A B
188

AFVDRARUE « Dy e = TARYFY
2TV I0w e —Fuh M6

EPDMAY £ 3x30

BAVEASR 1=6.8

89

Rt
27702 t=1.5 HUtE

258

127

BER
27702 t=1.5 HUtE

Ny 2R
73 t=1 W=30

28.5

¥=UVT (BIR)

23

15

50

BEZY

2702 t=15
709-%+v S

7oh-28 27UV t=2

BHEILIN (BIR)

-2 (RI55EE)

L ERDTZ

FIRROE=1F31E 1 40

Q:T&D*GWA

\¥——————fﬁiﬁ(%ﬁ)

ErEat (Blig)

TOI-r-307 9¢
AVF=04%- 1.8¢

ERES RT-081

EBRA 54 N2E-INY FRS Db FP_SUS— 187 - I
2 WhHBEmN

] L . 1] B 8 ‘WTMM%

R 2 e E =

X

=BISNIAISTYIHRRER

JoBRE

/ [




XEgnES R1-081

S S
120 A
20 35
08 7IoUR-L B B
= i8¢
AFVDRARE e Dy e = TARY £ . e
2FUVT Ty = Fuh MG BAOENSZ 1=6.8
EPDM/Sy £ 5x30
D
© R
2702 t=15 HUtE
BE?
© 2702 t=15 HUtE Ny IR
< @ 7' t=1 W=30
™~
[@\]
0
2 U= g (BlR)
— BEIZY
2 27002 t=1.5
— 709-%+y 7
Y]
7VUN-2E RFVULR t=2
FHEILIIN (BE)
B2 (BE5E)
30 HEREDTE
100 150 FHRFEOTE =19H1%
709 -39 9¢
N AVF=04v- 1.86
HE# (38)
?7’\%/“9“’\
“ _ — \ o ISR - BB = £ B 9 - ==
BERR 54N RE- 9N F50b FP_SUS— i i = ) PR =mrsnoasTyosRel
5| WrniEHEE A
@ 1 ] E! 12 - iR N o o o o é;“;
R| 7 N o o T T s / "




